
  

  

 

 

 

Model Multiple Choice Questions:

IE-1 Management Accounting

Question Number:1

Musgrave and Musgrave emphasised the following relation:  
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A

Increase in per capita income leads to increase in demand for public services and corresponding 

growth in public expenditure  
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B

Increase in public expenditure leads to increase in supply of public services  
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C

Increase in per capita income leads to increase in demand for public expenditure and 

corresponding growth in public service  
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D

Increase in demand for public services leads to growth in public expenditure  
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Ans A

Question Number:2

Financial year of the Government of India commences from?  
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A

1st January  
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B

1st February  
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C

1st March  
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D

1st April  
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Ans D



 

 

Question Number:3

All loss of immovable property exceeding Rupees ____ thousand, such as buildings, communications, 

or other works, caused by fire, flood, etc or any other natural cause, shall be reported at once by the 

subordinate authority concerned to Government.  
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A

Forty  
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B

Fifty  
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C

Thirty  
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D

Twenty  
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Ans B


